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ECONOMICS (PAPER-I)

SDF-U-ECON

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5§ are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/Illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself. '

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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WUs—A / SECTION—A

1. frfafas & & v&s w7 F IR @ 150 wsa1 7 S

Answer the following questions in about 150 words each : 10x5=50

(a) wieeqyl % F@la &P oM Cy) = y2 +1 8, F&T y I 8| wfoeim gfd o =geam fifsg
S zaitee 6 R 9% e e 34 2
Under competition, the cost function is given as C(y) = y2 +1, where y is output.
Derive the inverse supply curve and show how the supply curve looks like.

(b) TSR 9K % A1 PH-T1 F Figa fave ) FR F Fuifa w=@ 27

What determines the degree of price discrimination under monopoly market?

(c) vETa el ® #=9 Fa # CFwEa e R vER 1ee = 27

How does ‘carbon trading’ help in reducing environment degradation?

(d) FoTAodiedto TR HHE Tsha Guwih 1 UReweH frm wabr foren smen 27 @ fafim weeaet 1
v a6t o e fafy & st 27
How is Human Development Index calculated by UNDP? Can there be a better
method of assigning weights to various indicators?

(e) =igu f5 e Higardl died #, W N Tt =59 § qUa & fowar @ we9 wyfea a5z WA
& 3eqa B 21

Show that in a simple Keynesian model, equal expansion in tax and
government expenditure does not always lead to balanced budget theorem.

2. (a) ‘HEE hH T gaEl F Afawie 6 ot A S 2 favewn Hif)

‘Tragedy of the commons’ leads to over-exploitation of resources. Analyze. 15

(b) U srfeee % foru FreferRaa e foan sman 2 -

39 e, C=250+0-5 (Y - T)-500r

& %, =250 -500r

arEfa g1 9 %o, L / P =0-5Y -500r

o g1 9fd, M = 7650

#ima ', P=17

W=T=8E0=g =G = 200

T8l Y = aredfas 3@, r = 9rated =W K, L = FEa g3 9, P = $iFa W)
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(i) IS 3R LM 3l % fore wefismor g v ofi v wd r 1 & Ferferg)

(i) H51 9 e % foe o wigen w1 Aif ok 36 S1e 3R g gfd # aRedd 510
T A, @ Ieare # gftad 1 afeen Hifs)
The following data are given for an economy :
Consumption function, C=250+0-5(Y -T)-500r
Investment function, I =250 -500r
Real money demand function, L /P =0-5Y —500r
Nominal money supply, M = 7650
Price level, P=17
Tax = T = Government expenditure = G = 200
Here Y = Real income, r = Real rate of interest, L = Nominal money
demand, P = Price level.
i) Find the equations for IS and LM curves, and solve for Y and r.

i) Find out the multiplier formula for money supply change and then
calculate the change in output if money supply changes by 510. 7+8=15

(c) Tarw =R w fgam, fawmstia 2ni % fowm & fFa TR 9rem = w6 &7

How can controls on foreign trade contribute to the development of developing
countries? 20

3. (a) v oAl W R ARG frn s R, 7w R At R g T om g 9% I I w4 A
I 3R wfereeme g Y spfiv e @l R ) @0 ot wewa ®7

The role of income and substitution effect is crucial in producing backward
bending labour supply curve when a tax is imposed on wages. Do you agree? 15

(b) o st fereferan % e ¥, 9w Rt w eEnsi—uE Frad o el %
731 9fd § 3f& & Sfodiodio W BN At yE | A H wWE A
In case of perfect capital mobility, explain the difference of the impact of

an increase in money supply on GDP under two alternative exchange rate
regimes—one fixed and the other flexible. 15

(c) o sferafiran SR it ge § iR Tfdfan 9 SER & Seuse SR dEe aE1
§ aresran R aIiorE gfE ¥ AT gal W o fa=m v i)
Reflect on the inefficiency and socially undesirable aspects of monopolistic

competition market situation vis-a-vis the perfect competition, both in the
short and in the long run. 20
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4. (a) T-afwr dfea # gl A #=n gwen AR ? 3R 7 o fit wmen | R yER fim
Bt 87

What is the follower’s problem in a duopoly model and how does it differ from
the leader’s problem?

(b) I AT -l arger, Wi snufe g % & § gereeel ®9 8 S8 = oged 27

Can public-private partnership function effectively in the area of physical
infrastructure?

(¢ T HA-8 feem §, v w enurfa & 78 = et o fmi e s 2, g
forifel @ geoe w9 4 fim df 77

What are the features based on which the new trade theories are built that are
distinctly different from the old theories?

@Wve—B /| SECTION—B

5. Ty=fafiaa § @ veis we= &1 I T 150 wiser 3§ s

15

15

20

Answer the following questions in about 150 words each : 10x5=50

(@) T R 5 IR g&F W F T ga A swEd f SR wmy-@-ay 95 F g
ATEYIF TN o F HIeTq T SR Y T, A G O T FEF R TER W g8

Explain how money multiplier will be affected if there happens to be partial
hoarding by public in each round as well as excess cash reserve holding by
banks over the minimum required.

(b) T wrEEl @ heha ) i fEd #) R 6 Red o R’ ww s 87 e i)

In what sense is Friedman’s quantity theory said to be a ‘restatement’ of
Fisher’s theory? Explain.

() W3 m faem i w0 & g FF-FF A TFEE B TgE F g8me

What criteria will have to be satisfied to obtain a Pareto efficient allocation?

(d) T ST R FR T R, S s i daa B F = §, A g dEd of
¥, S 39 Feudiemridl & v =) g2 3 # | favewo fifs)

Automatic stabilizers are supposed to mitigate cyclical fluctuations, but there
exist limitations which dampen the effect of these stabilizers. Analyze.

(e) St wufy-ardumeia if woa & gma F-Fn T {7 == Fikm)

What are the obstacles to international macro-economic policy coordination?
Discuss.
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(b)

(c)

(b)

(c)

(b)

(c)

Hrfell Hger, aTaw dged | R TR fim 87

How is the Marshallian equilibrium different from Walrasian equilibrium?

Hafy Hiedl ¥ 3 e Afme | == fifw, fd sgaum o fowm qafae
T B B

Discuss the essential features of the growth models which incorporate research
and development.

Tl TOR F 3% 3 FoEE F G UREdd & e F e TE W W@ E | B
FaARe |

In the contemporary world, many countries are not following Kuznets’ pattern
of structural change. Give reasons.

HFERTHF FTaH JEF 1 Geheqd] fFU TR Fadt o2 39 W AL & 7 6 91 i W we
#ifsT)

In what way does the concept of a positive optimal tariff apply to only large
countries and not to small countries? Explain.

T3 % forg Figardt wn, e H Feard P H et dEerned § A T R IR Q@
FC TqE ifse)

Keynesian demand for money is one of the key concepts of Keynesian theory of
unemployment. Illustrate.

w1 aguga e, goReh d9fe & Stya Fi fawa w @wa 87 A9 IW H 94 A FW0 A
i)

Can multinational investment defeat the objective of inclusive growth? Give
reasons for your answer.

Az Afa, sevwra #§ of, frg wno Feea @ 9 27 T At

What makes monetary policy ineffective even in the short run? Explain.

IR GIfg-319e 71 Fgha-Flus B geha ¥ enfya i 6 gf @ e i)
Trade can be growth-promoting or growth-inhibiting. Argue in terms of the
established theories.

F T a9 fakerar % F-F0 FRO B WEH AORRAA 9! dln B TR TER FH R
Tl 87

What are the causes of market failure in agriculture? How may government
intervention mitigate this?

* kK
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